

Ασκ. 2 $2f'(x) + 3x \cdot f(x) = 5x \quad (1)$

$f(0) = 1$

$$f'(x) + \frac{3x}{2} f(x) = \frac{5x}{2} \Leftrightarrow$$

$$f'(x) \cdot e^{\frac{3}{4}x^2} + \frac{3x}{2} \cdot e^{\frac{3}{4}x^2} \cdot f(x) = \frac{5x}{2} \cdot e^{\frac{3}{4}x^2}$$

$$\left(f(x) \cdot e^{\frac{3}{4}x^2} \right)' = \frac{5}{2} \frac{3x}{2} \cdot e^{\frac{3}{4}x^2} \Leftrightarrow$$

$$\left(f(x) \cdot e^{\frac{3}{4}x^2} \right)' = \left(\frac{5}{2} e^{\frac{3}{4}x^2} \right)'$$

Αυτή $x \in \mathbb{R}$ (διότι ορίζεται)

$$f(x) \cdot e^{\frac{3}{4}x^2} = \frac{5}{2} e^{\frac{3}{4}x^2} + C$$

για $x=0$ $1 \cdot e^0 = \frac{5}{2} \cdot e^0 + C \Leftrightarrow 1 = \frac{5}{2} + C \Leftrightarrow C = -\frac{1}{2}$

$$f(x) \cdot e^{\frac{3}{4}x^2} = \frac{5}{2} e^{\frac{3}{4}x^2} - \frac{1}{2} \Leftrightarrow f(x) = \frac{5}{2} - \frac{1}{2} e^{-\frac{3}{4}x^2}, x \in \mathbb{R}$$

Μορφή $f'(x) + g(x) \cdot f(x)$

Θέλουμε $G(x)$ παράγωγο της $g(x)$
 να $\int$ με το $e^{G(x)}$.

Παράγωγο του $\frac{3x}{2} = \frac{3}{4}x^2$

να $\int$ με $e^{\frac{3}{4}x^2}$

ελέγχος: $\left(e^{\frac{3}{4}x^2} \right)' = e^{\frac{3}{4}x^2} \cdot \left(\frac{3}{4}x^2 \right)'$

Δοκιμάζω: $\left(e^{\frac{3}{4}x^2} \right)' = \frac{3}{2}x \cdot e^{\frac{3}{4}x^2}$

Ασκ. 3 $f(0) = 2, f(x) > 0 \quad \forall x \in \mathbb{R}$

Βαθμική Εξασφιοή.

$$f'(x) = f(x) \cdot \ln f(x) \xrightarrow{f(x) \neq 0}$$

$$A' (x) = A(x) \quad \forall x \in \Delta$$

$$\text{ώρς } A(x) = c \cdot e^x, \quad x \in \Delta.$$

$$\frac{f'(x)}{f(x)} = \ln f(x) \Leftrightarrow$$

$$\left(\ln f(x) \right)' = \ln f(x) \Leftrightarrow$$

$$\ln f(x) = c \cdot e^x \Leftrightarrow$$

$$\ln f(0) = c \cdot e^0 \Leftrightarrow$$

$$\ln 2 = c$$

$$\ln f(x) = (\ln 2 \cdot e^x) \Leftrightarrow$$

$$f(x) = e^{\ln 2 \cdot e^x} \Leftrightarrow$$

$$f(x) = 2 \cdot e^{e^x} \quad x \in \mathbb{R}$$

Ασκ. Ευώος

$$f(0) = 1, f'(0) = 2$$

$$f(x) = ?$$

$$f''(x) = f(x) \Leftrightarrow$$

$$f''(x) + f'(x) = f'(x) + f(x) \Leftrightarrow$$

$$\left(f'(x) + f(x) \right)' = f'(x) + f(x) \Leftrightarrow$$

$$f'(x) + f(x) = c \cdot e^x \Rightarrow f'(0) + f(0) = c \cdot e^0 \Rightarrow c = 3$$

$$f'(x) + f(x) = 3 \cdot e^x \quad \text{νωλ} / \int \text{w } \mu \epsilon \quad e^x \quad \left[\begin{array}{l} \text{νωρς λ εώος } f(x) : 1 \\ \text{νωρς } \lambda \epsilon \omega \text{ος } \ln : x \end{array} \right]$$

$$f'(x) \cdot e^x + (e^x)' f(x) = 3 \cdot e^{2x} \Leftrightarrow \left(f(x) \cdot e^x \right)' = 3 \cdot e^{2x} \Leftrightarrow$$

$$\left(f(x) \cdot e^x \right)' = \left(\frac{3}{2} \cdot e^{2x} \right)' \Leftrightarrow f(x) \cdot e^x = \frac{3}{2} \cdot e^{2x} + C_1 \Rightarrow$$

$$f(0) \cdot e^0 = \frac{3}{2} \cdot e^0 + C_1 \Leftrightarrow 1 = \frac{3}{2} + C_1 \Leftrightarrow C_1 = -\frac{1}{2} \Rightarrow f(x) \cdot e^x = \frac{3}{2} \cdot e^{2x} - \frac{1}{2}$$

$$f(x) = \frac{3}{2} e^x - \frac{1}{2} e^{-x}$$

$$f'(x) + 2f(x) = 4e^{2x}$$

$$f'(x) \cdot e^{2x} + 2 \cdot e^{2x} \cdot f(x) = 4 \cdot e^{4x}$$

$$(f(x) \cdot e^{2x})' = (e^{4x})' \stackrel{P}{\Rightarrow}$$

$$f(x) \cdot e^{2x} = e^{4x} + C_1 \Rightarrow$$

$$f(0) \cdot e^0 = e^0 + C_1 \Rightarrow$$

$$1 = 1 + C_1 \Rightarrow C_1 = 0$$

$$\hookrightarrow f(x) \cdot e^{2x} = e^{4x} \Leftarrow$$

$$f(x) = e^{2x}, x \in \mathbb{R}.$$

$$f''(x) = 25f(x)$$

$$f''(x) + 5f'(x) = 5f'(x) + 25f(x)$$

$$\text{Liniar} = 5(f'(x) + 5f(x))$$

$$f''(x) = 4f(x) \quad f(0) = 1, f'(0) = 2$$

$$f''(x) + 2f'(x) = 2f'(x) + 4f(x)$$

$$f''(x) + 2f'(x) = 2 \underbrace{(f'(x) + 2f(x))}_{A(x)}$$

$$A'(x) = 2A(x) \Rightarrow$$

$$A'(x) - 2A(x) = 0 \Leftrightarrow e^{-2x} \cdot A'(x) - 2 \cdot e^{-2x} \cdot A(x) = 0$$

$$e^{-2x} \cdot A'(x) + (e^{-2x})' \cdot A(x) = 0 \Leftarrow$$

$$(e^{-2x} \cdot A(x))' = 0 \stackrel{P}{\Rightarrow} e^{-2x} \cdot A(x) = C \Leftarrow$$

$$A(x) = C \cdot e^{2x} \Rightarrow f'(x) + 2f(x) = C \cdot e^{2x} \stackrel{x=0}{\Rightarrow} f'(0) + 2f(0) = C \Leftarrow$$

$$C = 4 \Rightarrow f'(x) + 2f(x) = 4e^{2x}$$

Aufg. 4 $\varphi''(x) = -f(x)$

(Σ 2.175. Aufg. 11) $\varphi''(x) + \varphi(x) = 0$

Es sei $A(x) = (f(x))^2 + (f'(x))^2$

$A'(x) = 2f(x) \cdot f'(x) + 2f'(x) \cdot f''(x) \xrightarrow{(*)} 0$

$A'(x) = 2f(x) \cdot f'(x) + 2f'(x) \cdot (-f(x)) = 0$

$A'(x) = 0, x \in \mathbb{R} \rightarrow A(x) = C, x \in \mathbb{R}$

$f^2(x) + (f'(x))^2 = C \xrightarrow{x=0} C$

$f^2(0) + (f'(0))^2 = C \Rightarrow C = 1$

$f^2(x) + (f'(x))^2 = 1 \quad (2)$

Definiere nun $B(x) = f(x) - \sin x \Rightarrow (3) \Rightarrow C_1 = 0$

$f(x) = B(x) + \sin x, f'(x) = B'(x) + \cos x \Rightarrow (2) \Rightarrow$

$f''(x) = B''(x) - \sin x$

$B(x) = 0$
 $f(x) - \sin x = 0$

$f(x) = \sin x, x \in \mathbb{R}$

$f''(x) = -f(x) \rightarrow$

$B''(x) - \sin x = -B(x) - \sin x \rightarrow$

$B''(x) = -B(x) \rightarrow$

$B^2(x) + (B'(x))^2 = C_1 \quad (2)$

$B^2(0) + (B'(0))^2 = C_1 \quad (3)$

obwohl $B(0) = f(0) - \sin 0 = 0$

$B'(0) = f'(0) - \cos 0 = 1 - 1 = 0$

$(3) \Rightarrow C_1 = 0$

$B^2(x) + (B'(x))^2 = 0 \quad \forall x \in \mathbb{R}$

$B'(x) = 0$

